

# The Basic and Extended Identities for Certain $q$ – Polynomials

Mohammed A. Abdlhusein

Department of Mathematics, College of Education for Hard Sciences,

## Abstract.

In this paper, we introduce the generating function, Mehler's formula, Roger's formula, the linearization formula and the inverse relation of the linearization formula of the polynomials  $G_n(x; q)$ , which is defined by L.Carltitz [3]. Also we introduce an extension of the generating function and extension of the Roger's formula, the extended generating function of  $G_n(x; q)$  involves a  ${}_2 - 1$  sum and the extended Rogers formula involves a  ${}_3 - 2$  sum.

All identities will be derived depending on the roles of the exponential operator  $E(\theta)$  after representing the polynomials  $G_n(x; q)$  by this operator.

:

سنقدم في هذا البحث الدالة المولدة وصيغة ملر وصيغة روجر والصيغة الخطية ومعكوس الصيغة الخطية لمتعددات الحدود  $G_n(x; q)$  ([3]). كذلك سنقدم توسيعاً وسيعاً لصيغة روجر لمتعددات الحدود  $G_n(x; q)$  , حيث سيحتوي توسيع الدالة  ${}_2 - 1$  , أما توسيع صيغة روجر فسيحتوي المجموع  ${}_3 - 2$  .

كل المتطابقات المقدمة في هذا البحث ستشتق بالأعتماد على قوانين المؤثر الأسّي  $E(\theta)$  استخدام هذا المؤثر في تمثيل متعددات الحدود  $G_n(x; q)$  .

**Keywords:**The exponential operator; generating function; Mehler's formula; Rogers formula; linearization formula, extended generating function; extended Rogers formula.

## 1. Introduction and Notation

Using of operators approach to some basic hypergeometric series given in the work of Goldman and Rota [13, 14], Andrews [1] and Roman [15]. Chen and Liu [7] developed a method of deriving hypergeometric identities by parameter augmentation, this method has more realizations as in [6, 8, 9, 10, 17, 18]. In this paper, we derive some

new identities of the polynomials  $G_n(x; q)$  and give an operator proof for these identities.

Let us review some common notation and terminology for basic hypergeometric series in [11]. Throughout this paper, we assume that  $|q| < 1$  and  $q \neq 0$ , the  $q$ -shifted factorial is defined for any real or complex variable  $a$  by:

$$(a; q)_0 = 1, \quad (a; q)_{\infty} = \prod_{k=0}^{\infty} (1 - aq^k), \quad (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad n \in \mathbb{Z}^+.$$

The following notation refers to the multiple  $q$ -shifted factorials:

$$(a_1, a_2, \dots, a_m; q)_n = (a_1; q)_n (a_2; q)_n \dots (a_m; q)_n, \\ (a_1, a_2, \dots, a_m; q)_{\infty} = (a_1; q)_{\infty} (a_2; q)_{\infty} \dots (a_m; q)_{\infty}.$$

The  $q$ -binomial coefficients, or the Gaussian polynomials, are given by:

$$\begin{bmatrix} n \\ k \end{bmatrix} = \frac{(q; q)_n}{(q; q)_k (q; q)_{n-k}}.$$

The basic hypergeometric series  ${}_{r+1}\phi_r$  are defined by:

$${}_{r+1}\phi_r \left( \begin{matrix} a_1, a_2, \dots, a_{r+1} \\ b_1, b_2, \dots, b_r \end{matrix} ; q, x \right) = \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_{r+1}; q)_n}{(q, b_1, b_2, \dots, b_r; q)_n} x^n,$$

where  $a_i, b_j, q$  and  $x$  may be real or complex [16].

The Cauchy identity is defined as:

$$\sum_{k=0}^{\infty} \frac{(a; q)_k}{(q; q)_k} x^k = \frac{(ax; q)_{\infty}}{(x; q)_{\infty}}, \quad |x| < 1. \quad \dots (1.1)$$

Putting  $a = 0$ , (1.1) becomes Euler's identity:

$$\sum_{k=0}^{\infty} \frac{x^k}{(q; q)_k} = \frac{1}{(x; q)} , \quad |x| < 1, \quad \dots (1.2)$$

and its inverse relation:

$$\sum_{k=0}^{\infty} \frac{(-1)^k q^{\binom{k}{2}} x^k}{(q; q)_k} = (x; q) , \quad \dots (1.3)$$

The  $q$  -difference operator  $D_q$  and the  $q$  -shift operator  $\eta$  are given by:

$$D_q\{f(a)\} = \frac{f(a) - f(aq)}{a} \text{ and } \eta\{f(a)\} = f(aq).$$

In 1998, Chen and Liu [6] constructed operator  $\theta = \eta^{-1}D_q$ . They introduced the exponential operator as:

$$E(b\theta) = \sum_{n=0}^{\infty} \frac{(b\theta)^n q^{\binom{n}{2}}}{(q; q)_n} , \quad \dots (1.4)$$

with the Leibniz formula for  $\theta$ :

$$\theta^n\{f(a)g(a)\} = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix} \theta^k\{f(a)\} \theta^{n-k}\{g(aq^{-k})\},$$

and gave the following operator identities [6]:

**Proposition 1.1.**

$$\begin{aligned} E(b\theta)\{(at; q)\} \\ = (at, bt; q) \end{aligned} \quad \dots (1.5)$$

$$\begin{aligned} E(b\theta)\{(as, at; q)\} \\ = \frac{(as, at, bs, bt; q)}{(abst'q; q)} \end{aligned} \quad \dots (1.6)$$

where  $|abst'q| < 1$ .

Also in 2006, Zhang and Liu [18] derived two operator identities as:

**Proposition 1.2.**

$$\begin{aligned} E(b\theta)\{a^n(as; q)\} \\ = a^n(as, bs; q) {}_2\phi_1\left(q^{-n}, q'as; q, bs\right), \end{aligned} \quad \dots (1.7)$$

where  $|bs| < 1$ .

$$\begin{aligned} E(b\theta)\{a^n(as, at; q)\} \\ = a^n \frac{(as, at, bs, bt; q)}{(abst'q)} {}_3\phi_2\left(q^{-n}, q/as, q/at; q, q\right), \end{aligned} \quad \dots (1.8)$$

where  $|abst'q| < 1$ .

In 1958, Carlitz defined a sequence of polynomials( see [3,4,5,12] )

as:

$$\begin{aligned} G_n(x; q) \\ = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix} q^{k(k-n)} x^k, \end{aligned} \quad \dots (1.9)$$

and gave its bilinear generating function [4] in the form:

$$\sum_{k=0}^n (-1)^k q^{n(n+1)/2} G_n(x; q) G_n(y; q) \frac{z^n}{(q; q)_n} = \frac{(qz, qxz, qyz, qxyz; q)}{(qxyz^2; q)},$$

also he showed that the polynomials (1.9) satisfy the following three-term recurrence relation:

$$G_{n+1}(x; q) = (x + 1)G_n(x; q) + (q^{-n} - 1)xG_{n-1}(x; q).$$

In 2009, Cao [5] represented the polynomials  $G_n(x; q)$  by the exponential operator  $E(\theta)$  as:

$$E(\theta)\{x^n\} = G_n(x; q), \dots (1.10)$$

and used this representation to solve some identities of  $G_n(x; q)$ .

In this paper, we use Cao representation (1.10) to introduce the basic and extended identities for  $G_n(x; q)$ , where in Section 2 we derive the generating function and Mehler's formula, in Section 3 the Rogers formula for the polynomials  $G_n(x; q)$  will be derived with two of its applications: the linearization formula and the inverse linearization formula, then in Section 4 we introduce two extended identities for  $G_n(x; q)$  which are the extended generating function and the extended Rogers formula.

## 2. The Generating Function and Mehler's Formula for $G_n(x; q)$

In this section, we derive the generating function and Mehler's formula for  $G_n(x; q)$  polynomials depending on the exponential operator representation (1.10) and the identities (1.5,1.6) of the exponential operator.

**Theorem 2.1**(The generating function for  $G_n(x; q)$ ). *We have:*

$$\sum_{n=0}^{\infty} G_n(x; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} = (t, xt; q) \quad \dots (2.1)$$

*Proof.*

$$\begin{aligned} & \sum_{n=0}^{\infty} G_n(x; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \\ &= \sum_{n=0}^{\infty} E(\theta) \{x^n\} \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \quad [from (1.10)] \\ &= E(\theta) \left\{ \sum_{n=0}^{\infty} \frac{(-1)^n (xt)^n q^{\binom{n}{2}}}{(q; q)_n} \right\} \\ &= E(\theta) \{(xt; q)\} \quad [from (1.3)] \\ &= (t, xt; q) \quad [from (1.5)] \end{aligned}$$

Now we derive Mehler's formula by using identity (1.6) of exponential operator, where we can represent the polynomials  $G_n(x; q)$  by

this operator as  $E(\theta)\{x^n\}$  or the polynomials  $G_n(y; q)$  as  $E(\theta)\{y^n\}$  or using the two representations together to get the same result.

**Theorem 2.2**(Mehler's formula for  $G_n(x; q)$ ). *We have:*

$$\begin{aligned} \sum_{n=0}^{\infty} G_n(x; q) G_n(y; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \\ = \frac{(t, xt, yt, xyt; q)}{(xyt^2/q; q)}, \end{aligned} \quad \dots (2.2)$$

where  $|xyt^2/q| < 1$ .

*Proof.*

$$\begin{aligned} & \sum_{n=0}^{\infty} G_n(x; q) G_n(y; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \\ &= \sum_{n=0}^{\infty} E(\theta)\{x^n\} G_n(y; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \quad [from (1.10)] \\ &= E_x(\theta) \left\{ \sum_{n=0}^{\infty} G_n(y; q) \frac{(-1)^n (xt)^n q^{\binom{n}{2}}}{(q; q)_n} \right\} \\ &= E_x(\theta) \{(xt, xyt; q)\} \quad [from (2.1)] \\ &= \frac{(t, xt, yt, xyt; q)}{(xyt^2/q; q)}. \quad [from (1.6)] \end{aligned}$$

### 3. The Roger's Formula and It's Applications

In this section, we introduce two forms of the Roger's formula depending on identity (1.6) of the exponential operator  $E(\theta)$ , then as an application of the Roger's formula, we give the linearization formula and the inverse linearization formula for  $G_n(x; q)$  polynomials.

**Theorem 3.1**(The Roger's formula for  $G_n(x; q)$ ). *We have*

$$\begin{aligned} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_{n+m}(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \\ = \frac{(t, s, xt, xs; q)}{(xts/q; q)}, \end{aligned} \quad \dots (3.1)$$

where  $|xts'q| < 1$ .

*Proof.*

$$\begin{aligned}
& \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_{n+m}(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \\
&= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} E(\theta) \{x^{n+m}\} \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \quad [from (1.10)] \\
&= E(\theta) \left\{ \sum_{n=0}^{\infty} \frac{(-1)^n (xt)^n q^{\binom{n}{2}}}{(q; q)_n} \sum_{m=0}^{\infty} \frac{(-1)^m (xs)^m}{(q; q)_m} q^{\binom{m}{2}} \right\} \\
&= E(\theta) \{(xt, xs; q)\} \quad [from (1.3)] \\
&= \frac{(t, s, xt, xs; q)}{(xts'q; q)} \quad [from (1.6)]
\end{aligned}$$

In the R.H.S. of (3.1), the terms  $(t, xt; q)$  and  $(s, xs; q)$  can be written as generating functions for the polynomials  $G_n(x; q)$  and  $G_m(x; q)$ , respectively to get the following identity:

$$\begin{aligned}
& \frac{(t, s, xt, xs; q)}{(xts'q; q)} \\
&= \frac{1}{(xts'q; q)} \sum_{n=0}^{\infty} G_n(x; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \sum_{m=0}^{\infty} G_m(x; q) \frac{(-1)^m s^m q^{\binom{m}{2}}}{(q; q)_m} \\
&= \frac{1}{(xts'q; q)} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_n(x; q) G_m(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}}
\end{aligned}$$

Therefore, we get another Roger's formula as:

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_{n+m}(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}}$$

$$= \frac{1}{(x/q; q)_{\infty}} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_n(x; q) G_m(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \dots (3.2)$$

Now we derive the linearization formula (3.3) and the inverse linearization formula (3.4) as an application of the Roger's formula as follows:

**Corollary 3.1.1.** For  $n, m \leq N$ , we have

$$\begin{aligned} & G_n(x; q) G_m(x; q) \\ &= \sum_{k=0}^{\min\{n, m\}} \begin{bmatrix} n \\ k \end{bmatrix} \begin{bmatrix} m \\ k \end{bmatrix} (q; q)_k (-x)^k q^{k(3k-2m-2n-1)/2} G_{n+m-2k}(x; q). \dots (3.3) \end{aligned}$$

*Proof.* From (3.2) we have:

$$\begin{aligned} & (x/q; q)_{\infty} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_{n+m}(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_n(x; q) G_m(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}}. \end{aligned}$$

Verify the L.H.S. by using Euler's identity (1.3):

$$\begin{aligned} & \sum_{k=0}^{\infty} \frac{(-x/q)^k q^{\binom{k}{2}}}{(q; q)_k} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_{n+m}(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} \frac{(-x/q)^k q^{\binom{k}{2}}}{(q; q)_k} G_{n+m}(x; q) \frac{(-1)^n t^{n+k}}{(q; q)_n} \frac{(-1)^m s^{m+k}}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}}. \end{aligned}$$

Set  $n = n - k, m = m - k$ , the L.H.S. equals:

$$\begin{aligned} & \sum_{n=k}^{\infty} \sum_{m=k}^{\infty} \sum_{k=0}^{\infty} \frac{(-x/q)^k q^{\binom{k}{2}}}{(q; q)_k} G_{n+m-2k}(x; q) \frac{(-1)^{n-k} t^{n-k}}{(q; q)_{n-k}} \frac{(-1)^{m-k} s^{m-k}}{(q; q)_{m-k}} q^{\binom{n-k}{2} + \binom{m-k}{2}} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \sum_{k=0}^{\min\{n, m\}} \frac{(-x/q)^k q^{\binom{k}{2}}}{(q; q)_k} G_{n+m-2k}(x; q) \frac{(-1)^n t^n}{(q; q)_{n-k}} \frac{(-1)^m s^m}{(q; q)_{m-k}} q^{\binom{n-k}{2} + \binom{m-k}{2}}. \end{aligned}$$

By comparing the coefficients of  $t^n s^m$  with the R.H.S. get:

$$\frac{G_n(x; q) G_m(x; q)}{(q; q)_n (q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} = \sum_{k=0}^{\min\{n, m\}} \frac{(-x/q)^k}{(q; q)_k} G_{n+m-2k}(x; q) \frac{q^{\binom{n-k}{2} + \binom{m-k}{2} + \binom{k}{2}}}{(q; q)_{n-k} (q; q)_{m-k}}.$$



Then

$$\begin{aligned}
& G_n(x; q) G_m(x; q) = \\
& \sum_{k=0}^{\min\{n,m\}} \frac{(q; q)_n (q; q)_m}{(q; q)_k (q; q)_{n-k} (q; q)_{m-k}} (-x)^k G_{n+m-2k}(x; q) q^{\binom{n-k}{2} + \binom{m-k}{2} + \binom{k}{2} - \binom{n}{2} - \binom{m}{2} - k} \\
& = \sum_{k=0}^{\min\{n,m\}} \begin{bmatrix} n \\ k \end{bmatrix} \begin{bmatrix} m \\ k \end{bmatrix} (q; q)_k (-x)^k G_{n+m-2k}(x; q) q^{\binom{n-k}{2} + \binom{m-k}{2} + \binom{k}{2} - \binom{n}{2} - \binom{m}{2} - k}.
\end{aligned}$$

By simplifying the term up to  $q$ , the desired identity follows.

Here we give the second application of the Roger's formula, it is the inverse relation of the linearization formula for  $G_n(x; q)$  polynomials.

**Corollary 3.1.2.** For  $n, m \in N$ , we have

$$G_{n+m}(x; q) = \sum_{k=0}^{\min\{n,m\}} \begin{bmatrix} n \\ k \end{bmatrix} \begin{bmatrix} m \\ k \end{bmatrix} (q; q)_k x^k q^{k(k-m-n)} G_{n-k}(x; q) G_{m-k}(x; q) \dots \quad (3.4)$$

where  $|x t s' q| < 1$ .

*Proof.* In (3.2), expand  $1/(x t s' q; q)$  by the Euler's identity (1.2), the R.H.S. can be rewritten as:

$$\begin{aligned}
& \sum_{k=0}^{\infty} \frac{(x t s' q)^k}{(q; q)_k} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_n(x; q) G_m(x; q) \frac{(-1)^n t^n}{(q; q)_n} \frac{(-1)^m s^m}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \\
& = \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} \frac{(x' q)^k}{(q; q)_k} G_{n-k}(x; q) G_{m-k}(x; q) \frac{(-1)^n t^{n+k}}{(q; q)_n} \frac{(-1)^m s^{m+k}}{(q; q)_m} q^{\binom{n}{2} + \binom{m}{2}}.
\end{aligned}$$

Set  $n = n - k, m = m - k$ , the R.H.S. equals:

$$\begin{aligned}
& \sum_{n=k}^{\infty} \sum_{m=k}^{\infty} \sum_{k=0}^{\infty} \frac{(x' q)^k}{(q; q)_k} G_{n-k}(x; q) G_{m-k}(x; q) \frac{(-1)^{n-k} t^n}{(q; q)_{n-k}} \frac{(-1)^{m-k} s^m}{(q; q)_{m-k}} q^{\binom{n-k}{2} + \binom{m-k}{2}} \\
& = \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \sum_{k=0}^{\min\{n,m\}} \frac{(x' q)^k}{(q; q)_k} G_{n-k}(x; q) G_{m-k}(x; q) \frac{(-1)^n t^n}{(q; q)_{n-k}} \frac{(-1)^m s^m}{(q; q)_{m-k}} q^{\binom{n-k}{2} + \binom{m-k}{2}}
\end{aligned}$$

By comparing the coefficients of  $t^n s^m$  with the L.H.S. of (3.2), get:

$$\begin{aligned} & \frac{G_{n+m}(x; q)}{(q; q)_n (q; q)_m} q^{\binom{n}{2} + \binom{m}{2}} \\ &= \sum_{k=0}^{\min\{n, m\}} (x'q)^k G_{n-k}(x; q) G_{m-k}(x; q) \frac{q^{\binom{n-k}{2} + \binom{m-k}{2}}}{(q; q)_{n-k} (q; q)_{m-k} (q; q)_k}. \end{aligned}$$

Therefore

$$\begin{aligned} & G_{n+m}(x; q) = \\ & \sum_{k=0}^{\min\{n, m\}} \frac{(q; q)_n (q; q)_m}{(q; q)_k (q; q)_{n-k} (q; q)_{m-k}} x^k G_{n-k}(x; q) G_{m-k}(x; q) q^{\binom{n-k}{2} + \binom{m-k}{2} - \binom{n}{2} - \binom{m}{2} - k}. \end{aligned}$$

Hence

$$G_{n+m}(x; q) = \sum_{k=0}^{\min\{n, m\}} \begin{bmatrix} n \\ k \end{bmatrix} \begin{bmatrix} m \\ k \end{bmatrix} (q; q)_k x^k q^{k(k-m-n)} G_{n-k}(x; q) G_{m-k}(x; q).$$

The proof is completed.

#### 4. The Extended Identities for $G_n(x; q)$ Polynomials

In this section, we introduce two extended identities. The first is an extension of the generating function which is deriving by using the identity (1.7) of the exponential operator

involving a  ${}_2$  sum. The second is an extension of the Roger's formula which is deriving by using the identity (1.8) of the exponential operator involving a  ${}_3$  sum.

**Theorem 4.1**(Extended generating function). *We have:*

$$\begin{aligned} & \sum_{n=0}^{\infty} G_{n+k}(x; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \\ &= x^k (t, xt; q)_\infty \phi_1 \left( q^{-k}, \begin{matrix} q'xt \\ 0 \end{matrix}; q, t \right), \end{aligned} \quad \dots (4.1)$$

where  $|t| < 1$ .

*Proof.*

$$\begin{aligned} & \sum_{n=0}^{\infty} G_{n+k}(x; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \\ &= \sum_{n=0}^{\infty} E(\theta) \{x^{n+k}\} \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \end{aligned}$$

$$\begin{aligned}
&= E(\theta) \left\{ x^k \sum_{n=0}^{\infty} \frac{(-1)^n (xt)^n q^{\binom{n}{2}}}{(q; q)_n} \right\} \\
&= E(\theta) \{ x^k (xt; q) \} \\
&= x^k (t, xt; q) {}_2\phi_1 \left( q^{-k}, q'xt; q, t \right).
\end{aligned}$$

**Theorem 4.2**(Extended Roger's formula). *We have:*

$$\begin{aligned}
&\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_{n+m+k}(x; q) \frac{t^n}{(q; q)_n} \frac{s^m}{(q; q)_m} (-1)^{n+m} q^{\binom{n}{2} + \binom{m}{2}} \\
&= \frac{x^k (t, s, xt, xs; q)}{(xts'q; q)} {}_3\phi_2 \left( q^{-k}, q/xt, q'xs; q^2/xts, 0; q, q \right), \quad \dots (4.2) \\
&\text{where } |xts'q| < 1.
\end{aligned}$$

*Proof.*

$$\begin{aligned}
&\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} G_{n+m+k}(x; q) \frac{t^n}{(q; q)_n} \frac{s^m}{(q; q)_m} (-1)^{n+m} q^{\binom{n}{2} + \binom{m}{2}} \\
&= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} E(\theta) \{ x^{n+m+k} \} \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \frac{(-1)^m s^m q^{\binom{m}{2}}}{(q; q)_m} \\
&= E(\theta) \left\{ \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{(-1)^n (xt)^n q^{\binom{n}{2}}}{(q; q)_n} \frac{(-1)^m (xs)^m}{(q; q)_m} q^{\binom{m}{2}} \right\} \\
&= E(\theta) \{ x^k (xt, xs; q) \} \\
&= \frac{x^k (t, s, xt, xs; q)}{(xts'q; q)} {}_3\phi_2 \left( q^{-k}, q/xt, q'xs; q^2/xts, 0; q, q \right).
\end{aligned}$$

Cao [5] gave the extension of Mehler's formula for the polynomials  $G_n(x; q)$  as:

$$\begin{aligned}
&\sum_{n=0}^{\infty} G_{n+k}(x; q) G_n(y; q) \frac{(-1)^n t^n q^{\binom{n}{2}}}{(q; q)_n} \\
&= \frac{(t, xt, yt, xyt; q)}{(xyt^2'q; q)} \times \frac{(q't; q)_k}{(ty'q)^k (q^2'xyt^2; q)_k} {}_2\phi_1 \left( q^{-k}, q'xt; q, t \right),
\end{aligned}$$

where he used identity (1.8) and the following  ${}_3{}_2$  transformation [11]:

$${}_3\phi_2 \left( q^{-n}, \begin{matrix} a \\ b \end{matrix}, \begin{matrix} c \\ d \end{matrix}; q, q \right) = \frac{a^n (d'a; q)_n}{(d; q)_n} {}_3\phi_2 \left( q^{-n}, \begin{matrix} a \\ b \end{matrix}, \begin{matrix} b'c \\ a q^{1-n}/d \end{matrix}; q, cq'd \right).$$

**References**

- [1] G. E. Andrews, On the foundations of combinatorial theory V, Eulerian differential operators, *Stud. Appl. Math.*, **50** (1971), 345–375.
- [2] W. A. Al-Salam and M.E.H. Ismail,  $q$  –Beta integrals and the  $q$  –hermite polynomials, *Pacific J. Math.*, **135** (1988) 209–221.
- [3] L. Carlitz, Note on orthogonal polynomials related to theta function, *Publ.Math.Debrecen*, **5** (1958) 222-228.
- [4] L. Carlitz, Generating functions for certain  $q$  –orthogonal polynomials, *Collectanea Math.*, **23** (1972) 91-104.
- [5] J. Cao, New proofs of generating functions for Rogers-Szegő polynomials, *Applied Mathematics and Computation*, **207** (2009) 486-492.
- [6] W.Y.C. Chen and Z. G. Liu, Parameter augmenting for basic hypergeometric series, II, *J. Combin. Theory, Ser. A* **80** (1997) 175–195.
- [7] W.Y.C. Chen and Z. G. Liu, Parameter augmenting for basic hypergeometric series, I, *Mathematical Essays in Honor of Gian-Carlo Rota, Eds., B. E. Sagan and R. P. Stanley*, Birkhäuser, Boston, (1998), pp. 111-129.
- [8] W.Y.C. Chen, A.M. Fu and B.Y. Zhang, The homogeneous  $q$  –difference operator, *Adv.Appl. Math.*, **31** (2003) 659–668.
- [9] W.Y.C. Chen, H.L. Saad and L.H. Sun, The bivariate Rogers-Szegő polynomials, *J. Phys.A: Math. Theor.*, **40** (2007) 6071–6084.
- [10] V.Y.B. Chen and N.S.S. Gu, The Cauchy operator for basic hypergeometric series, *Adv.Appl. Math.*, **41** (2008) 177–196.
- [11] G. Gasper and M. Rahman, Basic Hypergeometric Series, 2nd Ed., Cambridge University Press, Cambridge, MA, 1990.
- [12] D. Galetti, A Realization of the  $q$  –Deformed Harmonic Oscillator: Rogers-Szegő and Stieltjes-Wigert Polynomials, *Brazilian Journal of Physics*, **33** (2003) 148–157.
- [13] J. Goldman and G.-C. Rota, The number of subspaces of a vector space, in “Recent Progress in Combinatorics ”(W. Tutte, Ed.), pp. 75–83, Academic Press, New York, 1969.
- [14] J. Goldman and G.-C. Rota, On the foundations of combinatorial theory. IV. Finite vector spaces and Eulerian generating functions, *Stud. Appl. Math.*, **49** (1970), 239–258.

- [15] S. Roman, More on the umbral calculus, with Emphasis on the  $q$ -umbral calculus, *J. Math. Anal. Appl.*, **107** (1985), 222–254.
- [16] L. J. Slater, Generalized Hypergeometric Functions, Cambridge University Press, Cambridge, 1966.
- [17] Z. Z. Zhang and J. Wang, Two operator identities and their applications to terminating basic hypergeometric series and  $q$ -integrals, *J. Math. Anal. Appl.*, **312** (2005) 653–665.
- [18] Z. Z. Zhang and M. Liu, Applications of operator identities to the multiple  $q$ -binomial theorem and  $q$ -Gauss summation theorem, *Discrete Mathematics*, **306** (2006) 1424–1437.